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19.

20.

21.

22.

23.
24.

25.

(a) Explain the 00D axioms and corollaries.

4 Or
(b) Describe briefly about macro level processes.
(a) Explain what are the steps followed in
continuous festing.
Or
(b) What are the different ty'pea of test cases?
Explam in detail.
PART C — (83 x 10=30)
Answer any THREE questions. !

Write different stages of software development
process. 1 .
Explain the types of UML diagrams. /
What are steps to be followed for effectlye
documentatlon'? Explain in detail. ,

Explain 'distributed database and client server
computing. i

!i‘.xplaixi different type of system testing.

]
i

']
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(For candidates admitted from 2022-2023 onwards)
M.Sc. DEGREE EXAMTNAT;;N, NOVEMBER 2023
Information Teéhnology
OBJECT ORIENTED SYSTEMS DEVELOPMENT

Time : Three hours ! Maximum : 75 marks

PART A — (20 marks)
Answer ALL' questions.

I.  (A) Choose the correct answer : (Gx1=5)

1. The process of compartmentalizing the elements of

an abstraction that constitute its structure and
behavior is called as

(a) Hierarchy
_(¢) Modularity (d)

(b) Encapsulation
Entity Abstraction

2. Booch methodology is criticized for its
(a) Analysis phase
(b) Design phase
(¢) Developmert phase
(d) A large set of symbols




10.

' shows polymorphism.

Ve T
~—

with others, such Telatmnshxp is called
(a) isa \ (b) extend
(¢ include | @

Vo

exclude

| :
The recurring aspects of designs are called design
(a) ‘patterns - (b)
(¢) structures W (D)

documents
methods

The main concern of

testing is how |
users interact with the system. |

(a) Usability (b) Software
(¢) Quality : '(d) Object oriented ‘
(B) Fillin the blanks : Gx1=5)

type of function among the following

L UML diagrams has a static view.

A':%gregation is

and — . are the -':3

devel?pment
B ;

Non-conformance to software requirements is | ¢
known as B ! 3
\-: 2 W\

e

S.No. 6787 §

I.  Answer ALL questions : } (6x2=10)

11. What is attributes and methods in QQSD?

12. What do you mean by frameb!vork'?
13. What is collaboration? 1-
14. W'ﬁat is access layer sborag’e‘;.zllnd persistence?
15. What is block box testing? b A
 PARTB—(5x5= 23)

Answer ALL questions, choosing Elthel’ (a) or (b).

16.  (a). What is polymorphism? Gn«e an example of
[ 1
| : Or
(b) " Explam the concepts of Enéapsulatmn with
¢ suitable example. 1
;)
17, (a)

\
Explain Booth methodology activities.
L ! Or ' T
|.‘.'

!\(® Explain in detail

genelrati\‘e and
non-generative patterns.

zadvantages

18 ::(a) Write the few advantages and
wy" of object oriented analysis. ,
Or \
(b) Explain different approaches tu identify
. - classes.
: 3 S.](\'O. 6787
By |




19.

(a) Give a short note on hierarchical data model
with an example.

Or

() What are the structured data and
unstructured data in XML? \

|

3
[}

20. (a) Write the difference between packing ancf{'ll

21.
22.

23.

24.
25.

unpacking relations.

i

Or

0y

(b) Illustrate the applications of multimedia

database. _
PART C — (3 x 10 =30)

Answer any THREE questions.

Distinguish between Interquery Parallelism and_;{'l

Intraquery Parallelism.

Describe about the commit protocols in distributed '

databases.
Elucidate recursive query processing. .
Explain in detail about XML schema.

Write a note on multimedia database queries.

4 'S.No. 6788
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(For céndidates admitted from 2022-2023 onwards)
i M.Sc.' DEGREE EXAMINATION, NOVEMBER 2023.
i : Information Technology '
ADVANCED DATABASE MANAGEMENT SYSTEMS

Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Answer ALL questions.

"I (A) Choose the correct answer. (G5x1=5)

1. Whatis DBMS?
(a)- DBMS is a collection of queries
'(b} DBMS'is a high-level language
(c) DBMS is a programming language
(d) DBMS stores, modifies and retrieves data
2. Which forms have a relation that contains

information about a single entity?
(a) 4NF : ~«b) 2NF

"(c) BNF (d 3NF

——



10.

SPATIAL indexes cannot be created on NOT
NULL spatial columns.

(a) True (b)y~ False
©. Mod.erat,e (d) None of the above

The relatmnshm between DEPARTMENT» and
EMPLOYEEisa ———M8M8M .

(a) One to one relationship

(b) One to many relationship
(9/ Many to many relationship ,
(d)
Domain integrity also called

Many to one relationship

integrity. : J :
(b) Row i %\

(a) Attribute
(c) Data (d) Complex i\ Y
(B) Fill in the blanks. (Bx1=5)

—+ ey is an attribute that serves as !
the primary key of another relation.

—— is required to process a query in a o
distributed database.

In —— formats data is stored in the
database management system.

Ina schema, data organized mto a !
structure that appears as a tree.

— is the subset of SQL commands
used to manipulate Oracle Structures, including
tables

2 ' S.No. 6788

IL

11.
12.
13.
j ol
1.

N
s

J
Answer ALLthe questions. (5x2=10)
Write a note on relationship types.

Define inheritance.

List out the techniques of spatial database query.
Mention the three main types of XML document.
What is Integrity constraints?

PART B — (5 x 5 = 25)

' Answer ALL the questions, choosing either (a) or (b).

16.

W17

18.

(a) List out the types of relationship in database
systems.
Or
(b) Define normalization and Explain about INF,
2NF and 3NF.
(a) Briefly discuss about distributed data storage
with a technique of data replication.
Or
(b) Elucidate object and reference types.
{a) Mention the characteristics of spatial
database.
Or
(b) Explam propomtmna} calculus with an
example.
3 S.No. 6788
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19. '(3) What is the difference between LAN and .

WAN?
Or
(b) What is meant by layers of networking?
Explain.

20. (a) Explain abstraction in programming with
example.
Or
(b) Explain media composition with example.
SECTION C — (3 x 10 = 30)
Answer any THREE questions.
él Explain Applications of Multimedia in detail with
examples.
22. Explain in detail about 3D animation modeling.
23 Explain in detail Multimedia Operating System.

ﬁ. What is multimedia communication? Explain
Multimedia networks in detail.

25. Explain in detail about multimedia applications
with suitable examples.

S.No. 6794
1) "-{*,

S.No. 6794

P 22ITVAC1

(For candidates admitted from 2022—-2023 onwards)
M.Sc. DEGREE EXAMINATION, NOVEMBER 2023.

Information Technology — Value Added Course

MULTIMEDIA AND ANIMATION
Maximum : 75 marks

Time : Three hours
-SECTION A — (20 marks)

Answer ALL questions.
I (A) Choose the correct answer: (53x1=35)
1. Which of the following is a component of
multimedia? :
(a) Text (b) Images
(¢) Audio (g}\ All of these*
2. Which of the following is audio file format?
(a) mpeg-3 ®) aff
(c) jpeg - @ gif

AR
A

/

-
-
P

[
-
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Data compression means to
size.

the ﬁle

(a) Increase

(b) Decrease. .

(¢ Increase and decrease,
(d) None of the above

Which type of topology is best suited for large-

businesses which must carefully control and
coordinate the operation of distributed branch
outlets?

(a) Ring I (b) Local area
(¢) Hierarchical - (d) Star

Which of the following is not a user interface
design process?

(@) User, task, and environment analysis and
modeling

(b) Interface design

(0 Knowledgeable, frequent users
(d) Interface validation

(B) Fill in the blanks:

MPEG stands for -

Audio that represented as a series of binary
numbers is called ———— -

"(5x1=5)

is the collection of multimedia

elements displayed on a computer screen for user
interaction. :

2 : S.No. 6794

9. A computer that connects to the internet is called

10. A wired network that is found in a single building
is called

II. Answer ALL questions: (Bx2=10)

11. What are the main uses of multimedia?

12. What is animation software?

13. Why is the importance of data compression?

14. What is the purpose of networking?

15. Define user interface.

16.

17.

18.

SECTION B — (5 x 5 =25)

“Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)

Explain the components of Multimedia.
Or

Explain the function of multimedia resources
in global communication.

What are the components of sound?
Or
What is video and explain its types?
What is data compression and its types?
Or
Explain JPEG compression in multimedia.

3 S.No. 6794



3. This program or an oberating system feature
(6 pages)

S.No. 6793 - P22ITE1C

allows user to connect to a computer in another

location

(a) Remote Desktop
(b) Intranet

(¢ EDI

(d) E-Commerce

(For candidates admitted from 20222023 onwards)
M.Sc. DEGREE EXAMINATION, NOVEMBER 2023,
Information Technology — Elective

GREEN COMPUTING ;
4. —— includes tools for process modeling

and many of the process-enabling technologies
such as business rules, policies, and metrics

(a) Green ICT
(b) GreenIT

Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Answer ALL questions. _
I.  (A) Multiple choice questions : (Bx1=5)
(c) Green Computing

1.  Green computing is otherwise known as
S (d) Green Policy

(a) Green technology
(b) Eco-friendly Fa \
() Eco-favoured 4
(d) Green calculating

5. WEEE stands for —
(a) Wastern Electrical and Electronic Equipment

2. Where is India’s first green building located? (b) Waste Eectrical and Electronic Equipment

(@) ITC Green Centre, Gurgaon E () Wifi Electrical and Electronic Equipment
() CII - Sohrabji G Busi Centre, ! :
Ay derabag bji Green Business 2 e,. i (d) World Electrical and Electronic Equipment

(¢} Wipro Technologies, Gurgaon
(d) Suzlon one Earth, Pune

-]

S.No. 6793
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(B) Fill in the blanks : (5x1=5)

refers to the environmentally
responsible and eco-friendly use of computers and

their resources.

plays as important role in overall

platform energy efficiency.

the cost of production by retrieving
returned and recycled material from IT

equipment.

'

A——  describes how an organization
creates, delivers, and captures value, in economic,

social, cultural or other contexts.

Green IT-based software applications also have —
in that they help reduce GHG
social ' and

emissions associated with

organizational processes, products and services,

3 - S8.No.6793

I

-lL
12,
13,

14.

| 15.

‘Answer the following.

(5 x 2= 10)

Define Green IT.
What is Data Efficiency?

What are the major categories of information
systems within an organization? i :

What is the role of technology architecture?
What are greenhouse gases?

PART B — (5 x 5= 25)

Answer ALL questions, choosing éither (a) or (b).

16. (a) Discuss in detail about Green T

17.

fundamentals.
Or

(b) Write in detail about Green IT strategies.

(a) Give a few examples to illustrate how context
awareness leads to ‘smarter’ devices.

Or
(b) How do processors C.states save energy?
Explain.
4 S.No. 6793
[P.T.O]



18. (a)'
()
19. (a)
by
20. (3
(b)

Identify and discuss the four major ways in
which organizations can gain value by
greening an enterprise.

Or

How can green inter-organizational activities
be supported with IT and IS activities?
Elaborate.

Describe the components necessary for
successfully managing green IT.
Or B

Discuss information assurance and risk
management as part of ' the process of

implementation of green IT.

Explores the complex web of regulatory,

business and other forces acting on all

organizations to adopt green IT strategies.

Or
Differentiate between RoHS and REACh.

5 S.No. 6793

23.

PART C — (3 % 10 = 30)

Answer any THREE questions.

-

Discuss the philosophy, proé and cons of carbon
trading.

Briefly discuss in detail about various energy-

saving software methodologies.

With neat diagram, explain typical ERP system

- with modules and relationships.

Elucidates how to demonstrate a strong return on
investment on green IT implementation and

techniques of a successful metrics programme.

%5/ Write a brief note on the following

(a) Green building standards

(b) Green data centers

6 S.No. 6793
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(For candidates admitted from 2022-2023 onwards)
M.Sc. DEGREE EXAMINATION, NOVEMBER 2023.
Information Technology—Core Choice Course
ADVANCED DATA STRUCTURES

Time : Three hours Maximum : 75 marks
PART A — (20 marks)
Answer ALL questions

I. (A) Choose the Correct Answer (6x1=5)

1.  The data structure required to check whether an
expression contains a balanced parenthesis

is
(a) Stack (b) Queue
() Array (d) Tree

2.  Which scheme uses a randomization approach?
(a) hashing by division
(b) hashing by multiplication
(¢©) universal hashing

(d) open addressing

= e == e ~ —_—— — ==

3. In a binary max heap, worst case complexity will

be
(@ O(n) () O(logn)
(¢) O(oglogn) d O

4. What are the operations that could be performed
in O(logn) time complexity by red-black tree?

(a) insertion, deletion, finding predecessor,
successor

(b) only insertion
(¢) only finding predecessor, successor
(d) for sorting
6. Floyd Warshall algorithm is used for
solving
(n) all pair shortest path problem

(h) single source shortest path problem

(¢) network flow problem
(d) sorting prablem

(B) Fill in the Blanka (6x1=25)
6. Process of inserting an element in stack is
called
7. ———— Steps are involved in creating a hash

function using a multiplication method.



can be used as priority queue.

9.  Double rotation is also called as

10. The general method to solve the single-sourc
shortest-path problem is known as

II. Answer ALL questions G x2=10
11. Write the Difference between stack and queue.
12. What is hash function?
13. Define percolate down.
14. What is double rotation?
15. Determine topological Sor{:.
PART B — (5 x 5 =25)

Answer ALL the questions choosing either (a) or (b)

16. (a) Define circularly list and explain its types.
Or

(b) Write a short note on merge sort with an
example.

17. (a) Explain about separate chaining.
.\“-Or
(b) Tllustrate the following:
(i) Universal hashing
(i) Extendible hashing !

Elucidate Maxheap.
Or

18. (a)
(b) Give a short note on basic heap operations.

19. (a) Explain how to insert and delete an element
in a tree.

Or

(b) Mention the properties of red-black tree.
20. (a) Discuss about Bellman Ford algorithm.
Or
(b) Illustrate Floyd Warshall algorithm.’
PART C — (3 x 10 = 30)
Answer any THREE questions

21. Discuss about quick sort algdrithm with an
example.

22. FElucidate Hash Tables without Linked Lists.
23. Write a detailed note on Binary IHeap.

24. Explain how to perform insertion and deletion of
an element in red-black tree with suitable

example.

95. Demonstrate Shortest-Path Algorithms with
example.
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(For candidates admitted from 2022-2023 onwardg)
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U.G. DEGREE EXAMINATION, NOVEMBER 2023 ) e
! FF - 4

Part IV — General Interest Course Social values
VALUE EDUCATION (a) Pity and Probity
Time : Three hours Maximum : 75 marks (b) Self Control

SECTION A — (20 Marks) (c) Universal Brotherhood
(d) All the above

Answer ALL the questions.
3.  ugEHEd eTLTTD THSLILLL. EAD

I.  (A) Choose the correct answer : (5x1=5) ey
1. wellg wiuyse (eram) erenar? S
() apGurs drfdens

(=) wilwurms (@) Bwmbs GsHmbd

(<) THDSAsTETEDSD (m)  Guns @dd /

(@) s@sdd Qamdnense - The text written by Patanjali

() DiemeSg b (a) Bhrama Sutra

What is an example of a human value? (b) Hathayoga Pradipika

(a) respect (b) acceptance (¢) Mimamsa Sutra

(¢c) consideration (d) all the above (d) Yoga Sutra

2 S.No. 1104 T
— R adin.
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U.G. DEGREE EXAMINATION, NOVEMBER 2023 ) e
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Part IV — General Interest Course Social values
VALUE EDUCATION (a) Pity and Probity
Time : Three hours Maximum : 75 marks (b) Self Control

SECTION A — (20 Marks) (c) Universal Brotherhood
(d) All the above

Answer ALL the questions.
3.  ugEHEd eTLTTD THSLILLL. EAD

I.  (A) Choose the correct answer : (5x1=5) ey
1. wellg wiuyse (eram) erenar? S
() apGurs drfdens

(=) wilwurms (@) Bwmbs GsHmbd

(<) THDSAsTETEDSD (m)  Guns @dd /

(@) s@sdd Qamdnense - The text written by Patanjali

() DiemeSg b (a) Bhrama Sutra

What is an example of a human value? (b) Hathayoga Pradipika

(a) respect (b) acceptance (¢) Mimamsa Sutra

(¢c) consideration (d) all the above (d) Yoga Sutra

2 S.No. 1104 T
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SECTION B — (5 x b = 2b)

Answer the following questions by choosing either

(a)

(b)

(a) or (h):
Write a paragraph on Save Water

Or

Attempt a paraphrase of the following

passage:

The butterfly and moth develop through a
process called metamorphosis. This is a
Greek word that means transformation or
change in shape. Insects have two common
types of metamorphosis. Grasshoppers,
crickets, dragonflies, and cockroaches have
incomplete metamorphosis. The young (called
a nymph) usually look like small adults but
Butterflies,

beetles, flies and bees

without the wings. moths,

have complete
metamorphosis. The young (called a larva
instead of a nymph) is very different from the
adults. It also usually eats different types of
food.

metamorphosis of butterflies and moths: egg,

There are four stages in the

larva, pupa, and adult.

3 S.No. 1131

13.

(n)

(b)
(a)

Fill in the passage with suitable forms of the
verbs given 1n the brackets:

We put a slice of lemon into a cup of strong
tea and the tea — ———— (become) pale.
We satrike a match and a stick of wood
(burst) into flame and turns
into charcoal. These —————— (be) all
chemical reactions. The primeval man who
- (learn) to light a fire was the
first chemist. He (accomplish)
the first chemical reaction, that of
combustion. And this reaction 18 most
necessary, the most important 1n the history
of mankind.

Or

List out any five uses of an online blog,

What are the Do's and Don'ts in a science
laboratory?

Or

State your views on the following image:

4 S.No. 1131
[P.TO]
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14.

16.

(a) Give any five benefits of Digital [Fitness

Trackers.

Oy

() Wreite a paragraph on your views about

Nature.
(1) What are the steps involved in creating a
Vipg?
Or

(b) Write a conversation between you and the
virtual assistant, Siri, to help you clarify
certain doubts in your subject.

SECTION C — (3 x 10 = 30)
Answer any THREE questions.

Explain in detail why Digital Competence 1s
becoming a necessary skill of our times.

Overcrowded local buses are a risk for safe
transportation. If you are in a position to make a
change, what will you suggest? List out the
possible solutions you can think of to solve the
1ssue.

5 S.No. 1131

Write an essay based on your understanding of

the picture by giving an appropriate title.

Design five slides for a presentation on ‘Science in

Everyday Life’.

Imagine that you' are the Head of a company.
Draft a circular to inform your employees about

the changes in the working hours.

6 S.No. 1131
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(2) Bxplain the operations of Class Objects with

Sy S.No. 3252 22 SCCCA 3/

O 22 SCCCS 3/

- LS , ) 22 SCCCYS 3/

(b) What are lnplt:m attribute methods 1n 29 SCCAI 2
Python? Explain its purpose.

20.

23.

24.

25.

(@) What is assertion in Python? Explain with
example.

Or

(b) Discuss the regular expression character
classes and special characters in character
class in Python.

PART C — (3 x 10 = 30)
Answer any THREE questions.

Differentiate between list, tuple, set and
dictionary with one example each

What are the different flow control statements

available in python? Explain with suitable
examples.

Explain the following
(a) Date and Time module
(b) File handling operations

What are the main features of oops in Python?
Explain.

Demonstrate the use of Exception Handling in
Python with program.

4 S.No. 3252

Time : Three hours

(For candidates admitted from 2022-2023 onwards)

B.Sc./B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Part [II — Computer Applications/Computer
Science/Cyber Security/Artificial [ntelligence &
Machine Learning — Major

PROGRAMMING IN PYTHON

Maximum : 75 marks

PART A — (20 Marks)
(A) Multiple Choice Questions BGx1=5)

Which of the following is true for variable names
in Python?

(a) Unlimited length

(b) Underscore and ampersand are the only two
special characters allowed

(c) All private members must have leading and
trailing underscores

(d) None of the mentioned

(¥ scanned with OKEN Scanner



~1

10.

A conditional statement with a  series  of
alternative branches is called

(@) Chained condition
(b)Y  Branch condition

(©)  Compound condition
(d) Looping condition

_ data types are used to store values in
terms of key and value

(a) List (b) Dictionary
(¢) Class (d) Tuple

Which of the following is required to create a new
instance of the class?

(a) Class (b) Method
(¢) Constructor (d) Values

_ 1sraised when the denominator in a
division is not found

(a) IOError (b) Zero DivisionError
(¢) ValueError (d) TypeError
(B) Fill in the blanks G x1l=05)

Suppose list 1 1s [1,5,9], then the sum(listl) is

is the extension for PYTHON

To use a module in another module, you must
import it using an statement.

keyword is used to access members
of the base class

Exceptions are caught it block.
2 S.No. 3252

[I. Descriptive type Questions (57 2=10)
11.  What are operators? What is their function?

12. What are function arguments by reference in
Python?

13. How do you name packages and modules in
Python? Give example.

14. How do you do data abstraction in Python?

15. What is difference between search ( ) and findall ()
methods in Python?

PART B — (5 x 5=25)
Answer ALL questions, Choosing either (a) or (b).

16. (a) Define variable in python and list the rules of
python variables? Give suitable example.

Or
(b) Explain the various data types in Python.

17. (a) Define and explain for() loop in python with
syntax and example.

Or

(b) Write a python function wusing with
parameter and return type.

18. (a) How to import a module from a package show
with an example?

Or

(b) Describe the dir() function and reload()
function with example code.

3 S.No. 3252
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(For candidates admitted from 2022-2023 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER 2023
Part 111 — Allied
APPLIED PHYSICS -1

Time : Three hours Maximum ; 75 marks

PART A — (20 marks)
Answer ALL the questions.

I.  (A) Choose the Correct answer. (5x1=05)
1. dease eawta SI s0s G-
(<=1) @b (=) &wemad
(@) e B () Cuom
The SI unit of resistivity 1s
(@ Ohm (b) Siemens
(¢) Ohm-metre (d) Mho

2. LCR Qsri apdlen Q -smyenfl Wiy

w,C _w,L
(@) Q= R (<) Q= 2
Yo . _w,CL
@ Q= R (m) Q= =

The Q-factor of an LCR series circuit 18

(a) _w C _w } 7
Q _J._R b)) _Q—R
(c _w x w,CL

) @ -‘?—R d @ =

1111, eenp rFyquorer caneafipeE swoTen

uglenmpq.omen eredsr WL
() A () B

@ D () F

The hexa decimal equivalent of binary number
1111, is
@ A (b) B
© D d F

ydwen cansafls aflfiuig A+ AClean wiiy

(@) A (=) C
@ 0o (F) 1
According to Boolean algebra A+AC is

(@ A ® C
¢ O @ 1

2 S.No. 4193 T
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greys@ar LgUUBHE Wb epaud  Hlaaeusid

(<) RAM (<o) ROM
@ PHeocowrer RAM (m) wrmib RAM

The memory used only for reading data 1s

(a) RAM (b) ROM

(¢) Static RAM (d) Dynamic RAM
(B) Fill in the blanks. Y (Bel=5

St avBLran uTeEsHNer swHleasarar Hlubsemen

The balancing condition of Wheatstone's bridge 1s

LCR spmsafl® uhpd Sgpererng
aufurs wlEGL HsRSng.

In an LCR circuit the energy is dissipated through
only.

AND gisaeumieien @HuiG
The symbol of AND gate is

WPsemlguied geardld Gorssnd
2 arat(H&er w6 (Hiélemmer.

The number of inputs used in a full subtractor are

3 S.No. 4193 T

10.

1.

Ll

12.

13.

14.

15.

s UGL rhlsaflc
@prfipg uzu9ss Camauiu@ips.

Beercusio

In computers

regularly refreshed.

memory needs to be

Answer ALL the following questions. (5 » 2 = 10)

gulen eilflfl@ens sngy.

State Ohm's law.

<pOpODHD Hensmrsens cuenym.

Define Wattless current.

101101, eremp mUyLTET TN USSROTET
CTERTERTNE WD)

Convert 101101, into decimal number.

ydlwern aansaflls efsmars saam.
State the laws of Boolean algebra.
ROM wpmd RAM @Qapfleer CanuBss

Differentiate ROM and RAM.

4 S.No. 4193 T
[P.T.0]
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PART B — (b x b = 25)

Answer ALL questions by choosing either (a) or (b).

16.

()

(<)

(<=4)

B L ronalu@ér Qewdun e elerhd-

Explamn the function of a metre bridge.

Or
Qarasuiuc L GODHS auyby
Caurd S Leny Lﬁ]mmwgﬁmnaﬂuﬁ]éﬂ
2 gelluyL e ETEUGTM) SeraysE(mSHHD
Qewieumii?

How will you calibrate the given low range
voltmeter using potentiometer?

wrmflens WenGanmiLib  jenailBHgene up
ahleumd).

about the measurement of

alternating current.

Discuss

Or

Q@ -snyenflenws
safrenwullene eflarda.

euenTuIm. @558 rellen

Define @ factor. Explain the sharpness of

resonance.

5 S.No. 4193 T

18. (s Spasnggub FoqUOTEr CTENAST smilg OHPD

19.

20.

(<28

(=)

(1)

Qumh

) 1011gg 1100z en

(i) 1110 1001 eién

Add and multiply the following binary
numbers.

(1) 1011 with 1100

(iiy 1110 with 1001.

Or
EXOR-stéaeumublcien Coueneuium_ig enest
chlaTé ). ’
[llustrate the working function of EXOR
gate.

ewrisafdr Capprusaas snfl Hoed.

State and prove DeMorgan's theorems.

Or
GHlwnsd aenprd cremen? sewsddmss BCD
@Pwrssn upfl cHlaTés.
What is an encoder? Explain decimal to BCD
encoder.

B Epeanuiser wppd  Sfse wdsa
e syt ROM s @wvisiufsew s

Give the constructional details of ROM using
diodes and transistors.

Or
6 S.No. 4193 T
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(<2) ROM g seflu@unhlseld Qowd o 24. () SDTHLlg

Qouiug uph e, (<) OPeSHsal_ly @aupdlen Gawdungemen sleufl.

Describe about ROM as a working unit in Describe the function of
microcomputers. ) Haltadder
PART C — (3 x 10 = 30) (b) Full adder
Answer any THREE questions. 925. (<) PROM
21. srorer  aegulggiler  Gsflumevit  wraflu@er (<) EE]PRQM Gees Gauenew Qswwyb dlgd uHd
sy WwHmILD Gouenevuflenen el . TEGS-
Bergeuler Qeutiu@enaid GTeueummy [llustrate the working of

With a neat sketch explain the construction and
working of Carey Foster’s bridge. How will you
find the temperature co-efficient of a resistance?

(b) EPROM

(]
1o

LCR Qsmi gsfmsais spm geadeaerts upl
Aard. sisar  gsfose; fiCesnaiipsren
es81smss BGE.

Discuss about a LCR series resonance circuit.
Deduce the formula for resonance frequency of it.

23. E)mapeenuriser WHDID Aflsen_wWrisenart
vweru®sd NAND wpmib NOR sissaumulcosdr
sLLenwsslL(heuams edlerdEs.

Explain the construction of NAND and NOR gates
using diodes and transistors.

7 S.No. 4193 T 8 SNo.4193T
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4.

Blusnengm e ey mimenen
aupri@eugenr  apetd  LimedlAlullen

Qg m_és54 6
Rwweand Gawwemb # 44

(@) Qeuctener gnen (<gp) apenGliombley Ligen
@ GfSwb g8g (m)  2nHwmn @

Nomination can be done at the inception of the
policy by providing details of nominees in the

(a)  White paper

(b) Proposal form
(¢) Premium receipt
(d) Promissory note

—————— Qamates ererug STUGEH  Geugear
sarg @wuide orub FlL s@Swubpeurr

(<)) usr 2_flenw (<) S|ERTENDESTEVLD

(@) FF‘I'_QQJQ ()  epmeTmen HOUsEmas

— principle means that the insured is
not entitled to make a profit on his loss

(a) subrogation (b) causa proxima

(¢) indemnity ~(d) uberrima fides

(B) Fill in the blanks : (5 x1=5)
STUSCEH @UUBSLD GTEITLIS)

SUUBBOTED
A contract of insurance is a contract of

S.No. 1470 T

10.

———— Qswaun® sws@elluug. Canmeus.
sTUGL®  eueflsgans eurtiggd womb Gsee
Qewgows  @muugd  Qeufsd o amemwwren
Glen_sprsisansds smpuubdlprisar.

are considered to be the real
intermediaries whose function 1s to motivate,
solicit, procure and serve the insurance business.

om GHUG L sruSLE Hpauasfpsts w GG
veflyfly sruldl( sauiseas ————— e
Sienp&sluUBEpriser.

Insurance agents working solely for a particular
insurance company are called

s srUILE QuUUBSDL Oarar. @@ g
stuSC_Lrar wHmb 2 pdueissuuc et Ge Cu
o arafl_uul @edrarg _— Ta
S ssiu@Emr.

An instrument containing the contract of marne
insurance is entered into, between the insurer and
the assured is called a

ST g6
o _GTEnLo.

Qanerens aarus NFsuLs

principle 1In insurance means
maximum truth.

A S.No.1470 T
[P.T.0]
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SECTION B — (5 x b = 2b)

Answer the following questions by choosing either

(a)

(b)

(a) or (h):
Write a paragraph on Save Water

Or

Attempt a paraphrase of the following

passage:

The butterfly and moth develop through a
process called metamorphosis. This is a
Greek word that means transformation or
change in shape. Insects have two common
types of metamorphosis. Grasshoppers,
crickets, dragonflies, and cockroaches have
incomplete metamorphosis. The young (called
a nymph) usually look like small adults but
Butterflies,

beetles, flies and bees

without the wings. moths,

have complete
metamorphosis. The young (called a larva
instead of a nymph) is very different from the
adults. It also usually eats different types of
food.

metamorphosis of butterflies and moths: egg,

There are four stages in the

larva, pupa, and adult.

3 S.No. 1131

13.

(n)

(b)
(a)

Fill in the passage with suitable forms of the
verbs given 1n the brackets:

We put a slice of lemon into a cup of strong
tea and the tea — ———— (become) pale.
We satrike a match and a stick of wood
(burst) into flame and turns
into charcoal. These —————— (be) all
chemical reactions. The primeval man who
- (learn) to light a fire was the
first chemist. He (accomplish)
the first chemical reaction, that of
combustion. And this reaction 18 most
necessary, the most important 1n the history
of mankind.

Or

List out any five uses of an online blog,

What are the Do's and Don'ts in a science
laboratory?

Or

State your views on the following image:

4 S.No. 1131
[P.TO]
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14.

16.

(a) Give any five benefits of Digital [Fitness

Trackers.

Oy

() Wreite a paragraph on your views about

Nature.
(1) What are the steps involved in creating a
Vipg?
Or

(b) Write a conversation between you and the
virtual assistant, Siri, to help you clarify
certain doubts in your subject.

SECTION C — (3 x 10 = 30)
Answer any THREE questions.

Explain in detail why Digital Competence 1s
becoming a necessary skill of our times.

Overcrowded local buses are a risk for safe
transportation. If you are in a position to make a
change, what will you suggest? List out the
possible solutions you can think of to solve the
1ssue.

5 S.No. 1131

Write an essay based on your understanding of

the picture by giving an appropriate title.

Design five slides for a presentation on ‘Science in

Everyday Life’.

Imagine that you' are the Head of a company.
Draft a circular to inform your employees about

the changes in the working hours.

6 S.No. 1131
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(2) Bxplain the operations of Class Objects with

Sy S.No. 3252 22 SCCCA 3/

O 22 SCCCS 3/

- LS , ) 22 SCCCYS 3/

(b) What are lnplt:m attribute methods 1n 29 SCCAI 2
Python? Explain its purpose.

20.

23.

24.

25.

(@) What is assertion in Python? Explain with
example.

Or

(b) Discuss the regular expression character
classes and special characters in character
class in Python.

PART C — (3 x 10 = 30)
Answer any THREE questions.

Differentiate between list, tuple, set and
dictionary with one example each

What are the different flow control statements

available in python? Explain with suitable
examples.

Explain the following
(a) Date and Time module
(b) File handling operations

What are the main features of oops in Python?
Explain.

Demonstrate the use of Exception Handling in
Python with program.

4 S.No. 3252

Time : Three hours

(For candidates admitted from 2022-2023 onwards)

B.Sc./B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Part [II — Computer Applications/Computer
Science/Cyber Security/Artificial [ntelligence &
Machine Learning — Major

PROGRAMMING IN PYTHON

Maximum : 75 marks

PART A — (20 Marks)
(A) Multiple Choice Questions BGx1=5)

Which of the following is true for variable names
in Python?

(a) Unlimited length

(b) Underscore and ampersand are the only two
special characters allowed

(c) All private members must have leading and
trailing underscores

(d) None of the mentioned

(¥ scanned with OKEN Scanner
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10.

A conditional statement with a  series  of
alternative branches is called

(@) Chained condition
(b)Y  Branch condition

(©)  Compound condition
(d) Looping condition

_ data types are used to store values in
terms of key and value

(a) List (b) Dictionary
(¢) Class (d) Tuple

Which of the following is required to create a new
instance of the class?

(a) Class (b) Method
(¢) Constructor (d) Values

_ 1sraised when the denominator in a
division is not found

(a) IOError (b) Zero DivisionError
(¢) ValueError (d) TypeError
(B) Fill in the blanks G x1l=05)

Suppose list 1 1s [1,5,9], then the sum(listl) is

is the extension for PYTHON

To use a module in another module, you must
import it using an statement.

keyword is used to access members
of the base class

Exceptions are caught it block.
2 S.No. 3252

[I. Descriptive type Questions (57 2=10)
11.  What are operators? What is their function?

12. What are function arguments by reference in
Python?

13. How do you name packages and modules in
Python? Give example.

14. How do you do data abstraction in Python?

15. What is difference between search ( ) and findall ()
methods in Python?

PART B — (5 x 5=25)
Answer ALL questions, Choosing either (a) or (b).

16. (a) Define variable in python and list the rules of
python variables? Give suitable example.

Or
(b) Explain the various data types in Python.

17. (a) Define and explain for() loop in python with
syntax and example.

Or

(b) Write a python function wusing with
parameter and return type.

18. (a) How to import a module from a package show
with an example?

Or

(b) Describe the dir() function and reload()
function with example code.

3 S.No. 3252
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(FFor candidates admitted from 2022-23 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER 2023,
Part 111 — Allied
FINANCIAL ACCOUNTING ~ I (PRINCIPLES OF ACCOUNTING)
Time : Three hours Maximum : 75 marks
SECTION A — (20 marks)

Answer ALL questions.

I. (A) Choose the correct answer : (5 x 1=25)

L. Qereumeuaneupbled erg spatentt &/ @ @en e-gmyemmid?

(B) QPGaTD &/ (o) &Ll &/

(@) verbd &/ (M)  psdd &/
Which one of the following is example of personal a/c?
(a) Capital a/c (b) Building a/c

() Cashalc (d) Investment alc

2. Qsnmerapge LsgasHen Conésd ererer?
(@) Qs Gararupsd Le; Qauiw
() sLen GameTpsd LFe) Qauiw
(@) Qurss Camearpssd ufe) Gewiw
(F) Qeangg Qamerapsed udey Qeiw
What is the purpose of purchase book?
(a) To Record cash purchases
(b) To Record credit purchase
() To Record total purchases
(d) To Record asset purchase
3. Gpryg Cewemel senLwmeTd STeaure,b
() &bueTbd (2,) umTLens
(@) e s Lemrriiger (/) oardlwirkiser
Identify the direct expense:
(a) Salary (b) Rent
(¢) Electric Charges (d) Wages

(¥ Scanned with OKEN Scanner
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10.

Lgihwqt,mmmmﬁu\]tmﬂuw @i fpeoih (auetl gL
Sepamer awn Hlaab

(8 apepawinet maaetionbian ey

(&) Qandrens Heny

(@) slagpallen Bl

(M @l Qe

Find out the errors disclosed by the trial balance from the
following.

()  Error of complete omission

(b) Error of principle

(¢} Error of commssion

(d) Compensating error

geaf 1, 2018 sep. spfien spsy BE 3 LIBEUEESHES GG IO
aapsrt, Paeaus Cadeows samfluab.

() 31 woaké 2018 (<) 1 U 2018

(@) 4 guge 2018 (F) @lge 5, 2018

On 1% January 2018, Chandran draws a bill on Sundar for 3
months, find out the due date

(a) 31= March 2018 (b) 1% April 2018
(c) 4= Apnl 2018 (d) 5™ April 2018
(B) Fill in the blanks: (bx1=5)

— — caug saagu uggsnsela fif uflautgsmasemerns
uSa; Gauups GrudsepurED.

— is the process of recording financial transactions
in the books of accounts.

sengLe. Qirssn wopn wmwél Opleflesy e siguw L@
usEsn —— Ta1 S@RssLLGEDS.

A cash book with discount, cash and bank column is called

LW ——— aer aumsuuBSsLLLHdTarg).
Goodwill 1s classified as

ufley Qeiwourng uflaissmer
SHuoLEEDg.

A transaction which is not recorded at all is known as an error of

Yeop et

uflaisswen wCsrgndifE Sgiofésiufb amemer BTG
E— T
The no. of grace days allowed for bill of exchange is ——.

S.No. 4190 T

1
11

16.

Answer ALL questions (hx2=10)
s henm srebauny aens b pgelinmdn

How would you clnssify the account?

glenem Lighmmbeng S ) dme

Define subsidiary hook

aGaegnb Grani Cure Qewamemer UL LG

Last out any two direct expenses.

e sllapen  erapd  Gurgy  aGp@d &6 Gpfasou
Lt LiaS) (i,

List out any one situation when the error commission 18 arises,
@A s erdisener Wi ki Alpntaer
Who bears the noting charges?
SECTION B — (5 = 5= 25)
Answer ALL questions, choosing either (a) or (b).
(a) @nien ufley apenpuilen pemensmand @BILS b,
State the advantages of double entry system.

Or
(@) abs o gl dlururll. gaeufl, 20184smer Sarauss
ufleurssemanaEnss, GHCULE Lbajsanear STalb.

ggmmﬂ

1 Qurésgg s Gamfla Aermdennt @ 70,000

2 X wiomd Co. Apeuasd lmha seer Gardrapsd

Qaiwuiuc L g . 30,000

3 auduie QLurfle Qeuwiul L Qrrésd m. 40,000

1 sLanns L s Car figieuasd Smsg sLgL das

currudlarm . 95,000

5 Sgeas 2 uburssdpsrs andlle Fris shEsLLLL

et fm. 5,000

Ananth is a trader dealing in textiles. For the following
transactions, pass journal entries for the month of
January, 2018.

Jan
1 Commenced business with cash Rs. 70,000
2 Purchased goods from X and Co. on credit Rs. 30,000
3 Cash deposited into bank Rs. 40,000
4 Bought a building from L and Co. on credit Rs. 95,000
5 Cash withdrawn from bank for office use Rs. 5,000

3 S.No. 4190 T /
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17. (@) S@agd uvlatjsomsods GHED GpHefims

0}

(11)

(i)
(iv)

)

LiGTLy

@ o drafiajb

2003, sysahu

1 Qrasgg ar pm st L euenfla @ 1,000

Qunas Ganaapsd @100
Spp QuagLae m. 840

-

Gryekes Qeguasuucig o 200
uryeSLd @ops QupLUCLS - 700

(4]

6 Qegippuuc L am s . 100
7 Shp QurmLae @. 500

Enter the following transactions in a single column cash
book.

2003, Aug
1 Started business with cash Rs. 1,000
2 Purchased goods for cash Rs. 400
3 Sold goods for Rs. 840
4 Paid to Prabu Rs. 200
5 Received from Babu Rs. 700
6 Paid rent Rs. 100

=1

Sold goods for Rs. 500
Or

(=) daapd sswdsddmhg. wrié 31, 2017 ey ki

=Hémsfa ug GEueous s@TLflu wwdl  gswgs
Sifld@msaws surfissan.

efleugmiser -
srCsravawsdar QLurdll Qelwiul e sarmd 500
Gengus akfurd Casfisstuddan
srGsraa euphistul L g Semd UmTD 1.000
Gegusmausd® Bag b wphsiuLdbidene )
asdssiudp et ity 100
Beoawner = uig euriBwindy 200
Gegpastiufbib aum s
Gynés usss Gy 300

4 S.No. 4190 T

(1)
(1)
(i)
(1v)
(v)
18.

From the following information, prepare bank
reconciliation statement to find out balance as per bank
statement on 31¢ March, 2017.

Ra.

Particulars
Cheques deposited but not yet collected by the bank 500
Cheque issued but not yet presented for payment 1,000
Bank interest charged 100
Rent paid by bank as per standing instruction ﬁ

Cash book balance
(o) wrty 31, 2016 senpy P

ayghdly Sewpo GuCri@

Pgmasddmiy atgsss sarsmss purfissas.

efleunrimen .
syé (1-4-2015) 10,000
@snarnpsd 1,60,000
gncllaar 30,000
061 gk mall 10,000
o 6T CUERTIREESD 8000
sfipuean 3,00,000
oar Hmuud 16,000
Qeuafl Hapuud 10,000
erfleumyy wHpd efGunmst 8,000
s [HB0 Sacu:

(i) iomEE 31, 2016 Sey URKE 5. 20.000
(ii) Pageeu earfuid m. 4.000
i) erfleumy wpmb aR@uUIEET 15.1.000 &6 (parsalslCu

QagussuuLg.

Prepare trading account from the following ledger balances
presented by P. as on 31" March, 2016.

Particulars

Stock (1-4-2015)
Purchases
Wages

Carriage inwards
Freight inwards
Sales

Returns inward
Returns outward
Gas and Fuel

5

Rs.

10,000
1,60,000
30,000
10,000
8,000
3,00,000
16,000
10.000
8,000

S.No. 4190 T
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lqﬂ.\

(o)

Additional mformation:

W Stock on 317 March, 2016 Rs. 20,000

() Outstanding wages amounted to Rs 1,000

) Gas and fuel was pad in advance for Rs. 1,000,
Or

@@uunmmt@m Reouufeas
Gaugunad wneas

ebugs@d e

What are the differences between trial balance and balance
sheet?

Qeuuniey  sumflougde et Deraumd
aan fuoudee. sahap sfsdwapb

lengpaeh
) Spuea udssd @ 100 (s @ap wHodl ool g
Q) SNpuear Lassb o200 Was @S ouc L gl

() Qardppsd ysasd on.300 @on wdindeiucy g,

av) Qardiapsd udashd @400 Was wHnSediuc g,

The following errors were detected before the prepavation
of trial balance. Rectify them.

) Sales book 1s undereast by Rs. 100 (evedit)
(1) Sales book 1s overcast by Rs. 200
) Purchases book is undereast by Rs. 300

(v)  Purchases book is overcast by Rs. 400,

Or

@munmoe) UL G e gl Giang, 3,790
manoggy  &/@ee el nhpiote g Cil et i
Glenpadr sedre Mluaciad ey, G B oflamaar Qs
asamogay & /@ suin Qaiuia)b,

() elpusan  podr o dgah
Al () @) i),

() 06,0008 Gandiapgd  Gawwin e @uhdlo fisd
ANATEPEHA L b panh gL g

o 4,000 s @aon

1) Gengnagde o 460de  ahlbainn e Qungy sdi @ 540
e oo s Al Guame Ciu g

(v)  Casmapge Honcn g oy 200 edlaions )b
(V)  Wonge  dipu@ens  gamab @ E0Ae0 udlons

o 1 eee e gy LhagBlelonhg o@En  baddne
GAmA Wadwiin i g

0 S.No, 4100 T

N

(<By)

When a Trial Balance failed
led to agree, Rs. 3,790
transferred to the credit of suspense a/c. The I'ollnv:::

errors were discovered. Give journal
i J0 entries and prepare

(1) Sales day book was under cast by Rs. 4.000

() Purchase of machinery for Rs. 6.000 was passed
through the purchase book

Goods sold to Velu for Rs. 450 was posted to his
account as Rs. 540

(v)  Purchase return book was overeast by Rs. 200

(v)  The total of sales book from one page was carried
forward to the next page as Rs. 1,222 instead of
Rs. 1,122,

uflwipsemen  wCangn  whtas Csowus samsdin

Qrudypepau smisors Hossad. o grmand Aan@usd.

Explamn briefly the procedure of calculating the date of

maturity of a bill of exchange Give example.

Or

15 gran 2018 sy, A Qurplsea B &8 m 20,000 &5

aflihmay B mioo00 Qpraswnss Qagpsd mpap
LD 6 . 85 Sgaperan Qaravsssna Saa
TpgeQarament, aadvl 18, 2018 merp, 3 6% pa
pagugdear &) Sa Sebuo Qupipy A whpgd B
uspanasilo Camawna gland o drefDaen sgyiuad.
On 156" June 2018, A sold goods to B for Rs 20,000, B pmd
Rs. 10,000 1n cash and aceepted a bill for the remmmng
amount for three months On 18" August 2018, B retired
the hll under a rebate of 6% pa Pass the necessary
Journal entries in the books of A and B

SECTION C — (3 x 10 = 30)
Answer any THREE out of Five guestions.

(1)

21 Aadaimid Mgrecsolld @mpg. wnts 31, 2017 aeang wnsbailan

Guumien g

wirflasapd,  elgdlonsn oCaguh @Eaana.

SHETIng gy meradl D wrhDab.

il ks o eilaunmuady .3
Gt da o, 10,000 s emalad 25,000
apsganh 90,000 Bagia@ s 16500
ol sem 1,77.200 Qupppas Sdad 20,000
sbuienb 12000 sdeyan dav pngy 5,550
Wagiha Bouemig 9,450 @S0 e 17,000
tleba it

i S.No. 4190 T
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Sauriisa o Heuniuser .
QsreoaCudl sl anbd 2350 enpEQWEH 19.000
sLen Qanisaunaa 16.000 <& wHDIb 55,800

@\LJMITIUE:W
Qanergpse 85.000 U@ 550

From the following balances, prepare trial balance of Baskar as
on 31* March, 2017. Transfer the difference. if any, to suspense
account.

Particulars Rs. Particulars Rs.
Opening stock 40,000 Debtors 25,000
Capatal 90,000 Carriage inwards 16,500
Sales 1.77.200 Bills receivable 20.000
Salanes 12.000 Commission received 35,550
Bills payable 9,450 Cash at bank 17,000
Telephone charges 2350 Furniture 19.000
Creditors 16.000 Plant and Machinery 55,800
Purchases 85,000 Repairs 550

22 gaCesraflas eom usd Qs glge dSaamsd
uflaigseasaa uSay Gslwayn.
2017
garaufl
@sda Qrrésh 5.50,000
asds Gyrést 5.90.000
Gredaflss sLanss fhsuul . Qurpl sear 65.15.000
Crr@afd@un B@ss @ Gsmeswns Qupiu s
siCsree emdla QLurdl Qeiwinn’ L5 @%.14,500
6 Grmisn eaniy Quisdnd apad amdle ety
Qe uewd @.18.000
Esmas QunElsa 12,000 munisg Adsiu g.
=i 5.11.800 @Bl ami@ e s Gareswins
Q=sgx35. m5.200 Qynass sengrugewt Quppnd.
10 <=gaws 2 uCurssdpsts andlis Poss
apésuul L uesb §5.2.000.
12 ¢5-10.00055 grgrdi b B)mhs QurGlsoar auraid,
SQral saip apenb apeps Bateswns .9.800
Q=gyz4. m5.200 Qyrsss san@ugeul dumkisd.

14  vamb @sgiss Cagngw pfwn NEFT aoaib 5.18.000
Qsgpsfant

97 Cgrdefi@ean srGsra wHupsss;.

[ LI R

-1

8 S.No. 4190 T

Record the followin

g transact
Gunasekaran 1005 in three column cash book of

2017
Jan

1 Cash in hand Rs. 50 000
1 Cash at bank Rs. 90,000

2 Goods sold on credit to Rohini Rs. 15,000

o

Cheque received from Rohini in full settlement and
deposited into bank Rs. 14,500

6 Cash deposited into bank through cash deposit machine
Rs. 18,000

=1

Goods sold to Sridhar for Rs. 12,000. He made the
payment of Rs. 11,800 by debit card in full settlement by
availing a cash discount of Rs. 200

10 Money withdrawn from bank for office use Ra. 2,000

12 Purchased goods from Raja for Rs. 10,000 and paid
through credit card in full settlement by availing a cash
discount of Rs. 200 - Rs. 9,800

14 Nathiya who owed money made the payment through
NEFT Rs. 18,000

27 Cheque of Rohini dishornoured

23. wrie 31, 2018 Beeniim Sdach Sgocsdic DEss.

wigssrrer O fidar usssiaaio amssss womd s Sas s
swm&g wimd QEluflacs glieus susfissah

upp @eluse & a7 2o ss s
5725 10,000 Ssuea 1.22 500
Qgrz=o 2500 &L Gs=3szaiza 5.000
wnd 5.000 m Caarsa 2000
ey 550 750 weses 1.00,000
Qassnopse 95,000 '

9 S.No. 4190 T
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: JLyseT 5 25. geveufl 01, 2015 ey greu Qg .10,000 QUi senen
upp GEuLEe m: aure) @O0 eﬁl%u::;. Urdt uemb o L anguinas .&m%- ) apérer
. i gl 30 pris@EGD Gp@ Qg Qsg
ST LI Ee 4,600 Ceauehrigus b dz:mw Bicr s Q@m‘_q r.:gsrr,srm:a uwﬁgﬁﬁ

Quppnt. el ussstselis Gupsan. Lflaissmemame Lfey

anell 27,500 Qeiiweb.
BubBytiser 50.000 On Jan 01, 2015 Rao sold goods Rs. 10,000 to Reddy. Half of the

! payment was made immediately and for the remaining half Rao
ELaitrengd 13,500 drew a bill of exchange upon Reddy payable after 30 days. Reddy
ST &L’ L e 150 _ accepted the bill and returned it to Rao. On the due date Rao
(SIRIQUELD) presented the bill to Reddy and received the payment Journalize
Senk Gess Hh the transactions in the books of Rao.
aurLens Clegids i g 2,500
S DS ET 17,250

2,29,500 2,29,500

@il sré@e (31 wrié, 2018) @,.8,000

Prepare trading and profit and loss account and balance sheet in
the books of Deri, a trader, from the following balances as on

March 31, 2018.
Debit Balances Rs. Credit Balances Rs.
Stock . 10,000 Sales 1,22,500
Cash i 2500 Creditors 5,000
Bank - 5,000 Bills payable 2,000
Freight inwards- 750 Capital _° 1,00,000
Purchases 95,000 '
Drawings 4,500
Wages 27,500
Machinery 50,000
Debtors 13,500
Postage (office) 150 ' ;
Sundry expenses 850 '
Rent paid 2,500 . .
Furniture - 17,250

2,29,500
Closing stock (31 Marc
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4.

Blusnengm e ey mimenen
aupri@eugenr  apetd  LimedlAlullen

Qg m_és54 6
Rwweand Gawwemb # 44

(@) Qeuctener gnen (<gp) apenGliombley Ligen
@ GfSwb g8g (m)  2nHwmn @

Nomination can be done at the inception of the
policy by providing details of nominees in the

(a)  White paper

(b) Proposal form
(¢) Premium receipt
(d) Promissory note

—————— Qamates ererug STUGEH  Geugear
sarg @wuide orub FlL s@Swubpeurr

(<)) usr 2_flenw (<) S|ERTENDESTEVLD

(@) FF‘I'_QQJQ ()  epmeTmen HOUsEmas

— principle means that the insured is
not entitled to make a profit on his loss

(a) subrogation (b) causa proxima

(¢) indemnity ~(d) uberrima fides

(B) Fill in the blanks : (5 x1=5)
STUSCEH @UUBSLD GTEITLIS)

SUUBBOTED
A contract of insurance is a contract of

S.No. 1470 T

10.

———— Qswaun® sws@elluug. Canmeus.
sTUGL®  eueflsgans eurtiggd womb Gsee
Qewgows  @muugd  Qeufsd o amemwwren
Glen_sprsisansds smpuubdlprisar.

are considered to be the real
intermediaries whose function 1s to motivate,
solicit, procure and serve the insurance business.

om GHUG L sruSLE Hpauasfpsts w GG
veflyfly sruldl( sauiseas ————— e
Sienp&sluUBEpriser.

Insurance agents working solely for a particular
insurance company are called

s srUILE QuUUBSDL Oarar. @@ g
stuSC_Lrar wHmb 2 pdueissuuc et Ge Cu
o arafl_uul @edrarg _— Ta
S ssiu@Emr.

An instrument containing the contract of marne
insurance is entered into, between the insurer and
the assured is called a

ST g6
o _GTEnLo.

Qanerens aarus NFsuLs

principle 1In insurance means
maximum truth.

A S.No.1470 T
[P.T.0]
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S.No. 3246 16 SMBECA 1:2/
16 SMBECS 1:1/
16 SMBEIT 1:1

(For candidates admitted from 2016-2021 batch)

B.Sc. / B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Part 111 — Computer Applications / Computer Science /
Information Technology — Major Based Elective

SOFTWARE ENGINEERING
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20)
Answer ALL questions.

1. List down few advantages of linear sequential
model.

Define Application software. |

What 1s analysis modeling?

List out the characteristics of a good design.
Define Encapsulation.

Define Usability

= A L T N A

List down the advantages of coding convention.
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S.No. 3242 16 SCCCA 5/16 SCCCS 5/
16 SCCIT 5

(For candidates admitted from 2016-2021 batch)

B.Sc./B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Part 111 — Computer Applications/Computer Science/
Information Technology — Major

DATA STRUCTURES AND ALGORITHMS

Thime : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20)
Answélj ALL the questions.
1. Define Data Structures |
2. State the different types of linked lists
3.  Define Degree of the node
4.  What is a directed and undirected graph?
5.  Define Sorting
6. What is binary search?

7.  What is an example of a greedy approéch?

(¥ Scanned with OKEN Scanner
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Maximum : 75 marks

Time : Three hours
SECTION A — (10 x 2= 20)

Answer ALL the questions

1.  What is the use of Protocol?

List out the characteristics of data communication
system.

Write down the Wireless network techniques.
4. ' What is mean by burst ervor?
5.  Define the Internet Protocol.

6. List the Transport layer protocols.

(¥ Scanned with OKEN Scanner



R
15, () Discuss the Application Layers in dotails.
: -03 ' -
() Tlustrate the File Transier Protocol (FTP)-
SECTION C—(@x 10=30) -
16 Determine the TCP/IP prtocol network model.
17. State the Duta link layer protocols in detail,

18, Explain about the Routing algorithms in detatl.

19. Develop the User Datagram Protocol in detail.

ail  discussion | 20, Elucidate the steps in Client Server programming.
Rt ! g YT SR AP “1th“mple

""—-'ﬁ ) dmmhelm Switching.
- Or
(N I“mhﬂ” use of IPVG addyessing”

2 S.No, 3294 4 S.No. 3294
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S.No. 3243 16 SCCCA 6/16 SCCCS 8/
16 SCCIT 7

(For candidates admitted from 2016-2021 Batch)

B.Sc/B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Pm‘t‘ [T — Computer Applications/Computer
Science/Information Technology — Major

OPERATING SYSTEMS

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20)
Answer ALL questions.
1.  What is an operating system?
2. What is meant by Object Oriented Design?

3.  What is the difference between logical address and
physical address?

4.  What is meant by fragmentation?

5, Define starvation. _ 4

What is parallel processing?
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SECTION B — (b = 5 = 2b)

Answer ALL questions, choosing either (a) or (b).

(<)

(<=4

(3H)

(<)

Hmauepsursded oden  LOGam sordary

pomsmen aflard@s.

Explain the various cultural attractions in
Thiruvananthapuram.

Or

Qearafpfu s wHND Sy ssmouild
pel@rwnnEselen STE65MS 6T(PSIS-

Write down the impact of modernization on
South Indian art and architecture.

dspauem@ua@srar  Gareildllear  aurarhm
wHOID sW WPeEHwsgusmS eNaTd@s.

Explain the historical and religious
significance of the Shravanabelagola temple.

Or

smpmLsn Camuid syl ssmauild anGe Gl Hiedler
wEfusgausas &l lgsem_([Hs. ,

Point out the significance of Halebidu in
Karnataka temple architecture.

13.

14.

(<2)

(<2)

(<21)

(<)

BT SDHmIs@LpD &%wum Cuwwubiggeadd
DNTHT @t Ukiens ehlemdss.

Explain the role of government in promoting
ecotourism in the country.

Or

GpHunellen SOME LD UNEIHTULES
sPOsGWS sHmeT eeeuny ukselsding ?
ol s (a8,

How does ecotourism contribute to
environmental conservation in India?
Explain.

gesams Quiu  Gsmldler &Ll ssmamu
cllemé@s.

Explain the architectural features of the
Grand Temple in Tanjore.

Or

Ceauammiusanalu@a odaer Csarawdisalen
sorseTy WeHwsgauses HasEs.

Explain the cultural significance of churches
in Velankanni.

4 S.No. 2414 T
[P.T.O)

-
™ TN cw |
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S.No. 1107 T RUGSDC

(For candidates admitted from 2011-2012 onwards)
U.G. DEGREE EXAMINATION, NOVEMBER 2023
Part IV
SOFT SKILLS DEVELOPMENT
Time : Three hours Maximum : 75 marks
SECTION A — (5 x 6 = 30)

Answer any FIVE questions only.

1. polsesurer veuurmudlear cuerisgs Csrareug
©Dgg eflers@s.

Explain the developing positive attitude of
understanding self.

2. ‘'eeneven fleumis’ @& smsHenen s

‘Know Thyself’ — Examine.

3. aergrsdr wppd  Saergrsdlan ph  pLsas
Car_umr_genar edleufl.

Describe in the email and e-mail etiquette.
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S.No. 3246 16 SMBECA 1:2/
16 SMBECS 1:1/
16 SMBEIT 1:1

(For candidates admitted from 2016-2021 batch)

B.Sc. / B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Part 111 — Computer Applications / Computer Science /
Information Technology — Major Based Elective

SOFTWARE ENGINEERING
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20)
Answer ALL questions.

1. List down few advantages of linear sequential
model.

Define Application software. |

What 1s analysis modeling?

List out the characteristics of a good design.
Define Encapsulation.

Define Usability

= A L T N A

List down the advantages of coding convention.
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S.No. 3242 16 SCCCA 5/16 SCCCS 5/
16 SCCIT 5

(For candidates admitted from 2016-2021 batch)

B.Sc./B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Part 111 — Computer Applications/Computer Science/
Information Technology — Major

DATA STRUCTURES AND ALGORITHMS

Thime : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20)
Answélj ALL the questions.
1. Define Data Structures |
2. State the different types of linked lists
3.  Define Degree of the node
4.  What is a directed and undirected graph?
5.  Define Sorting
6. What is binary search?

7.  What is an example of a greedy approéch?
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S.No. 3243 16 SCCCA 6/16 SCCCS 8/
16 SCCIT 7

(For candidates admitted from 2016-2021 Batch)

B.Sc/B.C.A. DEGREE EXAMINATION,
NOVEMBER 2023.

Pm‘t‘ [T — Computer Applications/Computer
Science/Information Technology — Major

OPERATING SYSTEMS

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20)
Answer ALL questions.
1.  What is an operating system?
2. What is meant by Object Oriented Design?

3.  What is the difference between logical address and
physical address?

4.  What is meant by fragmentation?

5, Define starvation. _ 4

What is parallel processing?
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SECTION B — (b = 5 = 2b)

Answer ALL questions, choosing either (a) or (b).

(<)

(<=4

(3H)

(<)

Hmauepsursded oden  LOGam sordary

pomsmen aflard@s.

Explain the various cultural attractions in
Thiruvananthapuram.

Or

Qearafpfu s wHND Sy ssmouild
pel@rwnnEselen STE65MS 6T(PSIS-

Write down the impact of modernization on
South Indian art and architecture.

dspauem@ua@srar  Gareildllear  aurarhm
wHOID sW WPeEHwsgusmS eNaTd@s.

Explain the historical and religious
significance of the Shravanabelagola temple.

Or

smpmLsn Camuid syl ssmauild anGe Gl Hiedler
wEfusgausas &l lgsem_([Hs. ,

Point out the significance of Halebidu in
Karnataka temple architecture.

13.

14.

(<2)

(<2)

(<21)

(<)

BT SDHmIs@LpD &%wum Cuwwubiggeadd
DNTHT @t Ukiens ehlemdss.

Explain the role of government in promoting
ecotourism in the country.

Or

GpHunellen SOME LD UNEIHTULES
sPOsGWS sHmeT eeeuny ukselsding ?
ol s (a8,

How does ecotourism contribute to
environmental conservation in India?
Explain.

gesams Quiu  Gsmldler &Ll ssmamu
cllemé@s.

Explain the architectural features of the
Grand Temple in Tanjore.

Or

Ceauammiusanalu@a odaer Csarawdisalen
sorseTy WeHwsgauses HasEs.

Explain the cultural significance of churches
in Velankanni.

4 S.No. 2414 T
[P.T.O)

-
™ TN cw |

(¥ scanned with OKEN Scanner

o by



(¥ scanned with OKEN Scanner




S.No. 1107 T RUGSDC

(For candidates admitted from 2011-2012 onwards)
U.G. DEGREE EXAMINATION, NOVEMBER 2023
Part IV
SOFT SKILLS DEVELOPMENT
Time : Three hours Maximum : 75 marks
SECTION A — (5 x 6 = 30)

Answer any FIVE questions only.

1. polsesurer veuurmudlear cuerisgs Csrareug
©Dgg eflers@s.

Explain the developing positive attitude of
understanding self.

2. ‘'eeneven fleumis’ @& smsHenen s

‘Know Thyself’ — Examine.

3. aergrsdr wppd  Saergrsdlan ph  pLsas
Car_umr_genar edleufl.

Describe in the email and e-mail etiquette.
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